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sine : o

il OSBRI | 1480 |0~ 1 — 15830
cofeml o+ | - - o
cosine : -
Bffi| 1310 (hOSRE — Uih — 15870, oW F1
' R+ — + -
fangent Bfli Hi 0483 | th—ookl | i 082 | \li—oofl}
+ w EO -+ 00 #FO0
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B IR BRI "
- SGibFES A b v
I. 2.A+.B=90, 8 A
I, sinA= cosB:%
I, -cosA= sinB =%:tanA=—%
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1, B4 e=150, /L B=b5
(%) &, b, LA,
;)
/A =90"—/_B=90"—55= 35’
a=c sinA =150sin3p
=160 X0,5736
=86,04,
b=c cosA=150>§c6§35“
=150%0,8192
=122,88,
2, B4 . a=449,3, b=418,b
(R) LA, LB, ¢,
;)

S LA=4TOR
£ B=90'— 7 A=4258’
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3 b _ 4185

o _418.5__: 3
C=sA T €034 ()2 614

0.6816

3. B c=12, 2L A=382,
CR) a, b, /B,
§:1))
/. B=90"—/_A =90"—321=58,
a=csinA = 12sin32
=12%0,5299=6, 359,
b=c cosA =13 X032’
=12%0,8480~10,176
4. B a=2.3, LA =35,
CGR) by, ¢ /B,
(#4)
2. B=90"—/ A =90"-35"=55",
b=a cotA=2,3cot35"
=2,8X1.4281=3,3,
c=a csc_Ab=: 4, 3-05(:35"|
 =2,3x1,7404=4,0
5. Bdn LA=4317, C=26,
(®) 2B, b, a,
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¢:))
2. B=90"—/_ A =90"—-43"17 = 4643’ ,
b=c cosA =26 X cosdg17
=26 0,7280
=18, 9280,
a=c sinA =26 X sind3°17"
=96 X0, 6856
=17,8256,
6, Bdn /L A=1308, a=153,
GR) 2B, b, c,
(B
2. B=90"—/ A =90'— 1368’ =762
b=a cotA=15,2c0t1358"
=16,2%4,0207
=61,11464,

¢ =

a __: 0.l )
<inA 15, 2--sin13%68

=15, 20,2414 62,97,

70 E&%] a+0=4‘5’ b=30.
(R) a, ¢, £A, /B,
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(B
% aldbl=c?
S al4900=(45—a)
= 2025—90a + a?
s 90a=1126
S a=12.5,
s e=45-a=325,

¢ 32 ¢
siB=L=.80__o goay
C 32.5 . .

S LA=2237T p B=6T0Yr,
8., Edu a=40, b=27,

Gk) CA, /B, ¢,

(B

‘." c'l = a2 + b'l

S C=a/al bt =A/1600+729
=~/D329
=48,26,
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s 7. A=B5EO
o 2.B=90— /2 A=341,
9, B4 2LA=2712", b=31,
¢)) LB, a, ¢,
¢+
L. B=90—-/ A=6248,
a=btanA = 81tan27 12
=31x0,5139
=15,9309,
¢ = _6£X- = 81 --c08377127

=81+-0,8894

=34,85
10, B4n a=8, b=9,5
CRY ¢ LA, /B,
)

B B A MBS 12

¢ =a/al+b? =~64+90,25
=~"154.25
=12,45¢
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s L A=40'6
..o LB= 49054, .

B W HUEE

(sl s
1 BOC 4550ft, wh.2hd » IR
phE i bk AR— 2R
50", 3R A B Skt CY 2B
Bk o
(73 ‘ s

= 50cot50?
=50 %X0,8391

=41,95p £t
the A BhR O HIZITNEAS 1,955 58,
9, BD SRR — > s e0Lt, 4‘7}3'5’3\55&.
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//‘. a=BOft—b5ft = 45ft,
. & : o

s

| I VRN )d S b=acotA =4bcot20

= 45X 2,7476 = 123,6376{t,

3. [—-300ft, 72T BN .
1% L2 (05 F1IS 350,
R T R 2 Hise o

-3

§:)) : el
BxRapE AN o )
2 a= 300£t,
L A=85,
s b=acotA = 300cot35?
=3800%X1.4281
=428, 4 ft,

4, AB @K > —3 U e
T A Bk S AB % 5O f5:2 HfT 880£t i %
B G ZEHR CRio R ABZRIE o
(7))

cajr:r

cosA =




wm=n WpRES: P 153

. b
b cosA

=2 880~-cos50’
=880-+0, 6428
=13691t,
Wk M2 AR 2313698t-J3% o
B, K~ 601t, ¥ 2 AN
et LA, BAK X
0 8% 320, X 42° R
ZHIZ TN o
()

'  BD=60cot42?
AD = 60cot32?
s, AB=AD-RD
=60 cota2 —cot42*]
=60{1,6003—1,1106]
=60X0,4897
=2,9382ft,

(IYGEZER
1. FBCA—B} » —AFRARBIR T, 760 2R MAFRIIH
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a=htanA

=7, Ttand4’

=7,7X0,9657
=17,435871t,

RO 2 A A48T, 436871,
2, —Arf AU PZAY
ﬁﬁ‘_4ﬁ°’;mif§airéooftﬂn3‘ié
RSS2 A B0
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4 PQ=X,

M AQ=xeotds’ =X,

‘ .
vV
| AQ—BQ=600ft, |

BQ =X cot 60"=

. . S,
S X =600,

N BX-X=600VE
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Vg -1
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=300v T(14+~/F)
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2w A 1419, 616,
— AR ARAINGE
Pa—BiTEs © 2
60°, BisR4h 128, FHEN
A F RS 30°, R 2 S T
¥R pLis g o
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 ,CAD=g(, /CBA=30,
.+, ACB=30,
. AC=AB=12ft,

CD = ACsingo’

=12x123-= 63 ft,

7 AD=ACsinACD,
= ACsin3o®
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A, Bz HAFEA20008t.

=19 % §=6ft,
HATTTR 25078 6ft, MitHiG1s 6/ 38,

Z3k o ~TRIRRA 2P D
BRI AL ZAVSY
43 30° i B A ,c'.w

mmzm&o
IRDUIS DR LT ©
JUEAADCH AT
AG=DCot30°, = DTo~/F
Hi 26 ADBOH U
BO=DO cot0'= :/13%
M AABCTHISTIMZ T » & L) AC B IEILZH
MiBC 7448 s 2 A T o

& AR ACH+RBC,

s 2000= J(«/'@.‘DC)I +(DC)

=,\/; De +

2o 81
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‘ RTRR
s (2000) =3 ‘ﬁﬁq.%@.

8 (2000)2=9 DC? + DC

e
»

gn  DC*=8(2000)+10
=1200000
S DC =~/1200000 =1095ft, 38 o
RN L e {2 5 4948 109516t
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